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QUESTION 1

View the exhibit.

Examine the grub.conf file snippet in the Exhibit. Which statement is true if your Linux system boots by using this
grub.conf file?

A. GRUB will boot, by default, the first kernel entry of this grub.conf file.

B. GRUB will prompt you to select the kernel to be booted because the default parameter is set to 0.
C. GRUB will boot the kernel specified in the inittab file of the system.

D. GRUB will boot, by default, the second kernel entry of this grub.conf file.

Correct Answer: A

According the grub .conf file you have got 8 seconds to choose whether to boot the first entry.

Now if you want to change, and let say you want the second grub entry as booting system by default, just change the
line: default=0 by default=1

QUESTION 2

View the exhibits.
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Examine the output of sar command and the top command in the Exhibits. Which statement is the correct interpretation
of this data?

A. The system is running low on swap space and memory.

B. CPU is Idle and the system has plenty of free memory available.

C. The CPU utilization is high and one process is using most of the CPU.

D. The system is idle with very little memory, CPU, and I/O utilization.

Correct Answer: C

From the top exhibit we see that npviewer.gin uses 73.4% of the available CPU.

Note:

*

sar - Collect, report, or save system activity information.

*

The sar command writes to standard output the contents of selected cumulative activity counters in the

operating system. The accounting system, based on the values in the count and interval parameters,
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writes information the specified number of times spaced at the specified intervals in seconds.
*
saru2b

Report CPU utilization for each 2 seconds. 5 lines are displayed.

QUESTION 3

Which file system is both new and now installed by default in Oracle Linux 6 with Unbreakable Enterprise Kernel
(UEK)?

A. ext4

B. ext3

C. zfs

D. ext2

E. fat64

Correct Answer: A

Oracle Linux 6 includes many new features, including:
ext4 filesystem

The ext4 filesystem is installed by default.

QUESTION 4

Which three statements are true about the Kickstart installation method?

A. The Kickstart installation method helps to speed boot time after the system restarts.

B. A Kickstart file is created for every installation.

C. The Kickstart Configurator can be used to create or make changes to a kickstart file.

D. The Kickstart method allows for unattended and more standardized installations.

E. The Kickstart method of configuration is performed after the installation of the host operating system.
Correct Answer: BCD

BC:

* A kickstart installation requires a kickstart file that contains the answers to every question asked during an interactive
installation. Kickstart files can be created in one of three ways:

/ Perform an interactive installation. Once complete you will find the Kickstart configuration file for the
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installation you just completed in the "/root/anaconda-ks.cfg" file. This can be amended and used for

subsequent installations. (B)

/ Create a Kickstart file in a text editor manually, or based on a copy of a previous file.

/ Use the Kickstart Configurator. (C)

D:

* Kickstart installations provide an automated alternative to the normal interactive installations of RHEL and Oracle
Linux. The automation of installation and post installation configuration steps represents a considerable time saving in

situations where many similar installations are performed.

Reference: Kickstart - Automated Installations of RHEL and Oracle Linux

QUESTION 5

What does the following line in the modprobe.conf file indicate? options netconsole netconsole =
6666@192.168.1.200/eth0, 514@192.168.1.100/00:0C:A3:35:9C

A. Netconsole logging is set up to send messages to a server at the IP address 192.168.1.200 by using the ethO
device.

B. Netconsole logging is set up to send messages to a server at the IP address 192.168.1.200 by using the port number
6666.

C. Netconsole logging is set up to send messages to a server at IP address 192.168.1.200 by using the UDP port 514.
D. Netconsole logging is set up for two clients with IP addresses of 192.168.1.200 and 192.168.1.100 on this server.
Correct Answer: B

Example: options netconsole netconsole=6666@10.0.0.1/eth0,514@10.0.0.2/00:1A:A0:D2:55:66

6666 => Server source port

10.0.0.1 => Server IP eth0 => Server NIC 514 => Client listening port

10.0.0.2 => Client IP 00:1A:A0:D2:55:66 => Client MAC
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